b & &t B = (1 ITK)
£ R M £t 7t =1 = 'y 2= | HAL
PR (+ T)
4 + VameakiEl! WEFHAEELXY 133.0] m®
H R L W=1mzA 75 N 6.0l »
o+ v PR L=2.0kmLLF | 133.0-6.0/0.9 126.0| »
PR (BH2ET)
ARIEASELE | wamwrrasoiam | GHEE c RO UEIPFHR LD 95.8| m
t —=4cm
T Jeg A RC-40 I 95.8|
t=10cm
Pt R E (% M 1)
1A i AREEE R | FHEEEE KD 31.2| m
ME BEWET o vy | 24.546.7
2t A i [ AR ELE B R I 3.6/ »
AE A7 e v z| 3.0+0.6
REL ¥ e PUNN—H L n 2.4 v
f&x A 1.2+1.2
iRl ¥l i [ AR B E B R I 1.8/ »
AME AT aws| 0.6+1.2
SRR A AR L B R I 24.00 »
CHi Pitizoys| 24
6 Hh s R I 72.8] n
120X 120 53. T+6. 4+3. 4+9. 3
PR (& B it % 1)
T A H=1500 FHEEmEmX LY 54.0 m
2000@
VB IEME | Mtk FH=1. Im I 11.0] »
(D) +HH
M (1) H1500 1.o]
W2000
Pt R (Y1 1)
BT ) 38 AL - R R LY 85.6| mt
75. 2+10. 4
Cg = t =7.0cm n 150.3| nt
18-20-8 50. 7+75. 2+10. 4+14. 0
PR (HE T)
BEER 7 o v 7 b fEmX LY 18.5 m3
e 0.29X64.0
PEMFETEMALIR | 22 7 ) — Mk 18.5/ m3

(A )

L=12. bkm




b & &t B = (1 ITK)
£ R 7 £t 7t =1 Y 'y 2= | HAL
PR (HE T)
i RAEEDY FHEEmEmX LY 178.0| o
A N e I V4
PR (et ERE)
IR S5 0D JE FHh— H— FE 1.0l =
=1 OkmPL F 36.8 t
Pt R (Gt YEfE)
FRERAE R AR - W dmE L 0.6/ m3
[=14. 2km
PE S PEEW ALER RERA I 0.7 t
GU B K R AIE)
PR (Gt Zat)
AR [ 2 e EmEX LY 207.0/ m 2
207
ER AR E R I 46.0] ¥
HEA A% 3 0 A | 22X 1524X3048 | 46




¥k B0 =
(1ITR)%#% = 3 & & (H)
Al W g + (©) B+ (B)
Y/\ JN i s s
Wr m AE | ESWrmAE | B & | W R | CEUWERE | &=
NO. 0+ 0.00 2.5 0.0
0
NO. 1+ 0.00 20.0 2.2 2.35 47.0 0.0 0.00 0.0
NO. 2+ 0.00 20.0 2.4 2.30 46.0 0.0 0.00 0.0
NO. 2+ 10.00 10.0 1.9 2.15 21.5 0.0 0.00 0.0
NO. 3+ 0.00 10.0 1.1 1.50 15.0 0.0 0.00 0.0
0
NO. 3+ 4.00 4.0 1.1 1.10 4.4 0.0 0.00 0.0
/NG 64.0 133.9 0.0
Rt 64.0 133.0 0.0




¥k B0 =
(1ITR)%#% & 3 & &= (H)
" _— K 4 (CF) HIEL (BF)
a ) I R | CERMTEARS | %k B | W om o | CEHkTERE | B &
NO. 0+ 0.00 0.0 0.1
0
NO. 1+ 0.00 20.0 0.0 0.00 0.0 0.1 0.10 2.0
NO. 2+ 0.00 20.0 0.0 0.00 0.0 0.1 0.10 2.0
NO. 2+ 10.00 10.0 0.0 0.00 0.0 0.1 0.10 1.0
NO. 3+ 0.00 10.0 0.0 0.00 0.0 0.1 0.10 1.0
0
NO. 3+ 4.00 4.0 0.0 0.00 0.0 0.1 0.10 0.4
NG 64.0 0.0 6.4
Rt 64.0 0.0 6.0




D
,\Q
2 «"/”Q
6’50
I+ S <
gL - RO VEHEBEK
1/250
SEZEA L=1.2m
A4FER 1=0.6m

3EZA L=1.2m
4RBH L=1.2m 5EBE =24 0m
18R L=6.Tm
2 E@H L=0.6m
& B AL (135 AEHR (2)
L=11.0m Tm
350 A=24.4m A &HEE

6 EBH L=3.4m6 BBH L=9.3m

SEHET A=05.8m

10.4 | m* 7.6x1.414=10.4

] as 5 N
O = O 402 3 & N
— —
BMERS
ERER " _ L o ° .,
35")3/{ 75.2 | 53.2x1.414=75.2 0 EKJ}JK
FPEM 50.7 | m? 7
ErEp
i
N )
S 6 WZH L=53. Tm 6 WBH o
S — & -
6‘6’6'00 < T=6. 4m J o W
33 A=103.9m

T X =54 0m

BET (Y bA—HRF ) A=178.0ni




%

=, =

2000

2000

¢38. 1x1.6

T T i
EeAEREE G2 6x56mn
(RFYLF Ry b]
(E#H-FILE - 77*9’%Aé$hc§/\ﬁ$ﬁﬁ§]
(FEBHAEAB0N mm ~1050N. mn” )
% ®4.0 § @
$38.1x1.6
K / Okikgd) |
2 Qg —r—— B
‘}; $50.8x2.3 $50.8x2.3 Z‘j 7§ ]
21-20-8 | 3
BEI5y-5Y BNy ] S [ Z&r5950-5v |
S 50 | maeo | s00
1.400
N =, = Vvl
By ==X Cis i=A
% FR N g B x| & B | B
7z A HI1500 10m4Y
Tl A H=1500 10.00 10.00| m
) EEEEE
AXE L 10.00| m
BAITy =T
JLAsRr t=10cm L4 WA=0.5%0.5=0.25m2
10/2=5.0f& P 1.25] m2
FLARR /N 0.7X0.4X4X5 5.60| m2
Feffka 7= 24-20-8 0.7X0.4%X0.4X5.0 0.56] m3
N Im<W<2m | 1.4X1.4X0.77X5 7.55| m3
HEL W<1m 1.4X1.4X0.77X5-0.4X0.4X0.77 X5 6.93] m3




% s = =y =
;& E“ A =
PC-#1500 2000 PC-A1500
®38.1%1.6 i 54

&

-y AREE=

e
2t

FiyAEEERRES

‘®50.8X1.6

1450

1500

$38.1%1.8 I
SﬁB%A,AAAAA,J_AE% : | 3tz;ﬁ_
BE0.5%3.2 / ! g sesxae | A ‘ T g
200 s
FELgE
O FPEELEM
; = gee) 2SS
‘ Lgn”,‘f;
¥ I=R = rets
g i G = R
4 N g H x| & B | B
F9EE (1) 156340
H1500 X W2000
H1500
P W2000 1.00 1.00| %
AXIE L 1.00| %
BAITy =T
JLAsRr t=10cm 1T 4 A=0.55%0.55=0.30m2
0.3X2 0.60| m2
FLARR /N 0.7X0.45X4 X2 2.52| m2
Feffka 7= 24-20-8 0.7X0.45X0.45X 2 0.28] m3
N Im<W<2m| 1.45X1.45X0.8X2 3.36| m3
HEL W<1m 1.45 X 1.45X0.8X2-0.45X0.45X 0.8 X 2 3.04] m3




